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1. Exercise 9.2 – page 393
Identify the following expenditures as capital expenditure or revenue expenditures:

a) Immediately after acquiring a new delivery truck, paid $225 to have the name of the store and other advertising material painted on the vehicle.
b) Painted delivery truck at a cost of $250 after 2 years of use.
c) Purchased new battery at a cost of $40 for 2-year old delivery truck.
d) Installed an escalator at a cost of $12,500 in a three-story building that had been used for some years without elevators or escalators.

e) Purchased a pencil sharpener at a cost of $8.50.
f) Original life of the delivery truck had been estimated at 4 years and straight line depreciation of 25% yearly had been recognized. After 3 years’ use, however, it was decided to recondition the track thoroughly, including adding a new engine.

2. Exercise 9.4 – page 393 (Modified - For part a.2 use a Reducing Balance rate of 34% and use the Sum of the Years’ Digits (SYD) method for part a.3)
On January 2, 2001, Jansing Corporation acquired a new machine with an estimated useful life of 5 years. The cost of the equipment was $40,000 with a residual value of $5,000.

a) Prepare a complete depreciation table under the three depreciation methods listed below. Use a format similar to the illustrations on slides 16, 20 and 23 of the PowerPoint notes.  In each case, assume that a full year of depreciation was taken in 2001.

1. Straight-Line.
2. Reducing Balance at 34%.
3. Sum of the Years’ Digits (SYD).
b) Comment on significant differences or similarities that you observe among the patterns of depreciation expense recognised under each of these methods.

3. Exercise 9.7 – page 394
Bedford Bus Service traded in a used bus for a new one. The original cost of the old bus was $52,000. Accumulated depreciation at the time of the trade-in amounted to $34,000. The new bus costs $65,000 but Bedford was given a trade-in allowance of $12,000.
a) What amount of cash must Bedford pay to acquire the new bus?
b) Compute the gain or loss on the disposal for financial reporting purposes.
c) Explain how the gain or loss would be reported in the company’s income statement.
4. Exercise 9.9 – page 394
For several years, a number of Food Lion Inc. grocery stores have become unprofitable. The company closed, and continues to close, many of these locations. It is apparent that the company will not be able to recover the cost of the assets associated with the closed stores. Thus, the current value of these impaired assets must be written down (see the Case in Point on page 374).

A recent Food Lion income statement reports a $9.5 million charge against income pertaining to the write-down of impaired assets.

a) Explain why Food Lion must write down the current carrying value of its unprofitable stores.

b) Explain why the recent $9.5 million charge to write down these impaired assets is considered a non-cash expense.

5. Exercise 9.11 – page 395
Salter Mining Company purchased the Northern Tier Mine for $21 million cash. The mine was estimated to contain 2.5 million tons of ore and to have a residual value of $1 million. 
During the first year of mining operations at the Northern Tier Mine, 50,000 tons of ore were mined of which 40,000 tons were sold.

a) Prepare a journal entry to record depletion during the year.
b) Show how the Northern Tier Mine and its accumulated depletion, would appear in Salter Mining Company’s balance sheet after the first year of operations.

c) Will the entire amount of depletion computed in part a) be deducted from revenue in the determination of income for the year? Explain.

d) Indicate how the journal entry in part a) affects the company’s current ratio (its current assets divided by its liabilities). Do you believe that the activities summarized in this entry do, in fact, make the company any more or less liquid? Explain.

6. Exercise 9.13 – page 395
During the current year, Airport Auto Rentals purchased 60 new automobiles at a cost of $13,000 per car. The cars will be sold to a wholesaler at an estimated $4,000 each as soon as they have been driven 50,000 miles. Airport Auto Rentals computes depreciation expense on its automobiles by the units-of-output method, based on mileage.

a) Compute the amount of depreciation to be recognized for each mile that a rental automobile is driven.
b) Assuming that the 60 rental cars are driven a total of 1,650,000 miles during the current year, compute the total amount of depreciation expense that Airport Auto Rentals should recognize on this fleet of cars for the year.

c) In this particular situation, do you believe the units-of-output depreciation method achieves a better matching of expenses with revenue than would the straight-line method? Explain.
7. Problem 9.1 – page 395
Prescott College recently purchased new computing equipment for its library. The following information refers to the purchase and installation of this equipment:
1. The list price of the equipment was $275,000; however, Prescott College qualified for an “education discount” of $25,000. It paid $50,000 cash for the equipment, and issued a 3-month, 9% note for the remaining balance. The note, plus accrued interest charges of $4,500, was paid promptly at the maturity date.

2. In addition to the amounts described in 1. Prescott paid GCT of $15,000 at the date of purchase.
3. Freight charges for delivery of the equipment totalled $1,000.
4. Installation and training costs related to the equipment amounted to $5,000.

5. During installation, one of the computer terminals was accidentally damaged by a library employee. It cost the college $500 to repair this damage.

6. As soon as the computers were installed, the college paid $4,000 to print admissions brochures featuring the library’s new, state-of-the-art computing facilities.

Instructions
a) In one sentence, make a general statement summarizing the nature of expenditures that qualify for inclusion in the cost of plant assets such as computing equipment.
b) For each of the six numbered paragraphs, indicate which items should be included by Prescott College in the total cost debited to its Computing Equipment account. Also briefly indicate the proper accounting treatment of those items that are not included in the cost of the equipment.
c) Compute the total cost debited to the college’s Computing Equipment account.
d) Prepare a journal entry at the end of the current year to record depreciation on the computing equipment. Prescott College will depreciate this equipment by the straight-line method over an estimated useful life of 5 years. Assume a zero residual value.

8. Problem 9.4 – page 397

During the current year, Escola Developers disposed of plant assets in the following transactions:

Feb 10
Office equipment costing $26,000 was given to a scrap dealer at no charge. At the date of disposal, accumulated depreciation on the office equipment amounted to $25,800.

Apr 1 
Escola sold land and a building to Claypool Associates for $900,000, receiving $100,000 cash and a 5-year, 9% note receivable for the remaining balance. Escola’s records showed the following amounts: Land, $50,000; Building, $550,000; Accumulated Depreciation; Building (at the date of disposal), $250,000.
Aug15 Escola traded in an old truck for a new one. The old truck had cost $26,000, and its accumulated depreciation amounted to $18,000. The list price of the new truck was $39,000, but Escola received a $10,000 trade-in allowance for the old truck and paid only $29,000 in cash. Escola includes trucks in its Vehicles account.
Oct 1
Escola traded in its old computer system as part of the purchase of a new system. The old system had cost $15,000, and its accumulated depreciation amounted to $11,000. The new computer’s list price was $8,000. Escola accepted a trade-in allowance of $500 for the old computer system, paying $2,500 down in cash, and issuing a 1-year, 8% note payable for the $5,000 balance owed.
Instructions
a) Prepare journal entries to record each of the disposal transactions. Assume that depreciation expense on each asset has been recorded up to the date of disposal. Thus, you need not update the accumulated depreciation figures stated in the problem.

b) Will the gains and losses recorded in part a above affect the gross profit reported in Escola’s income statement? Explain.
Liabilities
9. Distinguish between a liability, a provision and a contingent liability. Include in your answer the accounting treatment of each.

10. Exercise 10.4 – page 441 (modified)
Using the following information, prepare a listing of Chernin Corporation’s (a) current liabilities and (b) long-term liabilities. If you do not list a particular item as a liability, explain your reasoning.

	Capital lease payment obligation (of which $10,000 will be repaid within the next 12 months)  
	$80,000

	Interest Expense that will arise from existing liabilities over the next 12 months
	$125,000

	Lawsuit pending against the company claiming $500,000 in damages. Lawyers can make no reasonable estimate of the company’s potential liability at this time
	$500,000

	20-year bond issue that matures in 2 years. The entire amount will be repaid at that time. 
	$900,000

	Accrued interest payable on the 20-year bond issue as of the balance sheet date
	$36,000

	Three-year commitment to John Higgins as chief financial officer at a salary of $250,000 per year
	$750,000

	Note Payable due in 90 days, but that will be extended for an additional 18 months 
	$75,000

	Cash deposits from customers for goods and services to be delivered over the next 9 months
	$300,000
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